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10 MEISXAIEHE2EHIEX 173,920 173,920 0
O AZtEHe! dE0IsSXddH 29

173,920,000 173,920
34,784
139,136

M

ZOHQIHOJAlL XIRHE 2 (=) 58,050 51,280 6,770
11,610
46,440

EUNGY

307 212t01™ 58,050 51,280 6,770
11,610
46,440

M H

11 ARIS XA E X 58,050 51,280 6,770

O HHABEASA I =X HH

o

=

HO

58,050,000& 58,050
11,610
46,440

M

Z0HQ! OIZAIE SALA S82E(ZHI) 9,720 9,720 0
2,916
6,804

A H

307 212t01™ 9,720 9,720 0
2,916
6,804

M H

11 AR S XA 2 X 9,720 9,720 0
O Z0H OISAIE SAHL S8+E

9,720,000 9,720
2,916
6,804

EUNGE

ZOHQ! =AESAIE 2L (=Hl) 228,835 166,709 62,126
34,325
194,510

M H

307 212t01™ 228,835 166,709 62,126
34,325
194,510

A




SA: FoI=X D
B Fo|E =NEX L A
Rl ZoHe! SXAIA EER=E)
S - EE - BRI(EH) - AIRAY - BAS of v G o HIDE2
10 Al2IS XA EEE 22X 228,835 166,709 62,126
O Zojol FALBAE 2
228,835,000 228,835
= 34,325
= 194,510
LSO =SS MHHIAXI (=) 315,273 328,932 13,659
= 220,691
= 28,375
= 66,207
308 AXIMS0IA 315,273 328,932 213,659
= 220,691
== 28,375
= 66,207
18 SIS0t 4 A A A 315,273 328,932 13,659
O €2 LS AEIAXNE
315,273,000& » 1 315,273
= 220,691
< 28,375
T 66,207
2ol LduSSSMEIAXIR (=) 108,080 9,207 11,873
= 75,656
[ 9,727
Ea 22,697
308 XtXIEMSO0IH 108,080 9,207 11,873
= 75,656
s 9,721
s 22,697
13 SI[2SOHe & EAS A 108,080 9,207 11,873
O AW LTS DSBS HHI2
N 108,080,000 * 1 108,080
= 75,656
=S 9,721
s 22,697
LR RL2AEX R (2HI) 3,769 3,769 0
= 2,637
=S 340
s 792
308 AtXIEMSOIE 3,769 3,769 0
= 2,637
= 340
Ea 792
18 SIS0t HAS A 3,769 3,769 0
O ZEHe fL2acIM8EXR UE
3,769,000& x 1= 3,769




SA F2US
B Fo|E =NEX L A
Rl ZoHe! SXAIA EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 2,637
=S 340
s 792
LN AIBIFHEZ2O(NER2Y) XIJ(=HI) 5,600 7,000 A1,400
< 1,680
= 3,920
307 lztol & 5,600 7,000 21,400
= 1,680
= 3,920
11 AMEISXAIEEES 5,600 7,000 1,400
O LML MIFHEZ B (NMHELY)
A& 5,600,000& 5,600
= 1,680
o 3,920
Z0Hel 2 AREY 2 (=Hl) 40,000 40,000 0
[ 12,000
T 28,000
307 glztol & 40,000 40,000 0
= 12,000
= 28,000
1 AMEISXAEEXS 40,000 40,000 0
O el sz X7 g8
40,000,000 40,000
S 12,000
o 28,000
Z0Hel D=E2 SHOIHA AXI(<H]) 1,200 1,500 A300
& 300
Ea 900
301 2EN= 1,200 1,500 A300
S 300
= 900
02 A2 XSG (FHAAHS, W) 1,200 1,500 A300
O ZoHelDXE=Z GHOIHA AXI(<HI)
1,200,000& 1 1,200
= 300
o 900
SSHIt- SE=SAHIA 74,000 118,000 A\44,000
301 EtE NS 74,000 100,000 226,000
02 ARSI 2E AT S(FIANS, XLETHE) 74,000 100,000 226,000
O MAS SSZMY =HEAX2
74,000,000 74,000
ZoHe! AR XA 7,320 7,320 0
201 Ler23| 7,320 7,320
01 At2teltl 6,320 6,320
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SA F2US
33 FHAAS SASH L XE
s ool SXIXE EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O dolgI@sl(F2X= 2 0lodE) HA+
g 70,0002 x4 +43] 1,120
O ARSI F=REX M
2,200,002 2,200
O AI2tEONOIS IRt OHY X} HIZ
3,000,000& 3,000
2 22| 1,000 1,000 0
O 22232 2 WAI(SE?Y S)
1,000,000& 1,000
JISE gRFA 1,000 1,000 0
201 fet=23y| 1,000 1,000
02 S3=gHl 1,000 1,000
O HASEES 2B B2
1,000,000& 1,000
CIEHER fIMESH X 10,000 0 10,000
301 LELEN S 10,000 10,000
02 MBI 2HHSFHS(HAANS, XLHE) 10,000 10,000
O Hgeae 43S F2dl X2
10,000,000 10,000
ZOHIEHM ALR A &AI 01 2E 75,350 75,350
201 er23| 16,650 16,650
01 AtR2te|HI 16,650 16,650
O AMR4 0lAEIE 16,650,000 16,650
307 @I2t01 & 10,500 10,500
03 LM EHE2SHIEX 10,500 10,500
O AR4 iz 10,500,000 10,500
401 Al HIZL 201 48,200 48,200
01 Al&H| 48,200 48,200
O &I - 8d & AME BE=SA
48,200,000& 48,200
ZoHe! ZXtel M3 1,161,153 884,056 217,097
= 602,937
= 167,465
= 390,751
ZOHRN (ML HI) L A2l XI&(=2H]) 591,415 493,126 98,289
= 295,708
< 88,712
= 206,99%
101 @124H| 585,415 487,126 98,289
= 292,708
== 87,812
o 204,89%
M ORNZZ2NSE S 585,415 487,126 98,289
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A F=X
I FHUHS =SXET L XY
el ZoHe! Xl MBS EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O HOHON(FYUM)UXI2| KIS QIAH|(X)
585,415,000 585,415
2 292,708
= 87,812
2 204,895
201 YLErRg Y| 6,000 6,000 0
2 3,000
= 900
=z 2,100
01 Al 22/t 6,000 6,000 0
O WS2Y, N22E 29 S
6,000,000 6,000
2 3,000
= 900
2 2,100
i (SXE)LXtel XS (=H]) 214,207 231,832 A17,625
2 107,104
= 32,131
=z 74,972
307 2I2H0I& 214,207 231,832 17,625
= 107,104
= 32,131
> 74,972
11 AFBI S XA E X 214,207 231,832 17,625
O HOHQ(=XIF)LX2l o121H]
214,207,000 *14 214,207
= 107,104
= 32,131
=z 74,972
ZHOHQI (AIZFMI) L Xi2I IR (=H1) 280,971 124,200 156,771
= 140,485
== 42,146
= 98,340
101 124H] 274,971 118,200 156,771
2 137,485
== 41,246
= 9,240
M IRIR22ISES 274,971 118,200 156,771
O ZOHQI(AIEHN Y X2] X2 (X))
274,971,000+ 14 274,971
= 137,485
== 41,246
2 9,240
201 LEr=2 Y| 6,000 6,000 0




SA F2US
B FoE 2NN L A
el HOHQ! €Xiel HS EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 3,000
=S 900
s 2,100
01 AtR2t2|HI 6,000 6,000 0
O MNEEE 78 S 6,000,000& 6,000
= 3,000
= 900
Ea 2,100
ZHOHQI (Al ZOHQIQFOAMIFA ) 2 Kk2l X1 (=2H]) 74,560 34,898 39,662
= 59,640
= 4,476
Ea 10,444
307 gl2to| & 74,560 34,898 39,662
= 59,640
= 4,476
= 10,444
11 AMEISXAIEEXS 74,560 34,898 39,662
O ZOHQI(AIZIZOHQIQHOrAMIIA ) L R} Q!
galsl 74,560,000 74,560
2 59,640
= 4,476
2 10,444
A2 S Akt 235,722 231,190 4,532
= 34,418
= 10,962
= 190,342
XS AL 2CIUIOIH X - *4(34]) 66,468 64,936 1,532
= 33,234
[Ea 33,234
101 @124H| 66,468 64,936 1,532
= 33,234
o 33,234
03 SRA(RIH )22+ 46,468 46,972 A504
O N SAZCIUI0IE 212i8|
46,468,000& 1 46,468
= 23,234
[Ea 23,234
M ORIMZZ2NSE S 20,000 17,964 2,036
O AHESAIZLUIOIE 21|
20,000,000& 20,000
= 10,000
Ea 10,000
A SAIZOIUIOIE 2124 23,568 23,568 0
101 ©1AH| 18,568 23,568 /5,000




SA F2US
B Fo|E =NEX L A
ol X SA2e EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
M ORIMZZ2NSE S 18,568 23,568 /5,000
O XESALZCIUIOIE 24|
18,568,000& 18,568
202 048l 5,000 5,000
01 2L AL 5,000 5,000
O TRZARCIUOIE oft]
5,000,000& 5,000
=2 S8 ANFSMEE It MHIA K& (=2H) 2,368 2,780 ANA12
= 1,184
s 1,184
201 er23| 2,368 2,780 AN412
= 1,184
= 1,184
2 s5=34l 2,368 2,780 N412
O NHESANEE=XE 2,368,000& 2,368
= 1,184
o 1,184
AHesSmes2I X (=) 13,872 18,460 N\4,588
< 4,162
[Ea 9,710
201 2egh=3| 7,372 11,330 A3,958
= 2,212
= 5,160
01 At2teltl 4,372 8,330 A3,958
O X0t MHESALLA 28 S
4,372,000& 4,372
= 1,312
[Ea 3,060
03 A= 3,000 3,000 0
O XA & =M &30 AHESMe 29
3,000,000& 3,000
== 900
= 2,100
307 elztol & 6,500 4,130 2,370
= 1,950
Ea 4,550
02 2IZHBYAIHE A 6,500 4,130 2,370
O JIs8 HESAEH X2
6,500,000& 6,500
== 1,950
o 4,550
NESA 25 22 N 84,446 86,446 /2,000
201 er23 | 27,146 27,146 0
01 At2teltl 17,000 17,000 0
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SA F2US
33 FHAAHS SASH L XE
el MASS ?I2 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
g8 MASFR=E 20,000 25,000 25,000
301 LEtE N = 20,000 24,000 24,000
02 ARSI 2EH 2GS (HAAHS, W) 20,000 24,000 24,000
O HEMNASFE A2 20,000,000& 20,000
MBIFXAE RS 7,000 10,000 /3,000
301 EtE2 NS 7,000 10,000 /3,000
02 AR 2HHLFS(HAAS, XNLHE) 7,000 10,000 23,000
O MEISXIAE A2 7,000,000 7,000
SEARISA2 23 579,120 576,240 2,880
< 4,536
T 574,584
SEAEISX22S X 564,000 564,000 0
307 elztol & 564,000 564,000 0
10 Al2IS XA EEE 22X 554,000 534,000 20,000
O SetzlsX2 23| 564,000
- SAHAL 21| 520,000,000& 520,000
- SX& 24| 34,000,000 34,000
M ARRISTIAIEE X 10,000 30,000 220,000
O olsgcHe =24 10,000,000 10,000
EAEEXZ 2IXA(ZHI) 15,120 12,240 2,880
= 4,536
= 10,584
307 elzto| & 156,120 12,240 2,880
= 4,536
Ea 10,584
10 AlISXAZEHE 22X 15,120 12,240 2,880
O SeAtSAZ S SE+4 XI&A
15,120,000 15,120
== 4,536
o 10,584
A=A 28t A 29 1,938,429 1,840,384 98,045
= 7,500
[ 886,649
Jl 61,000
< 174,475
[Ea 808,805
KNEXEE ABIMHIA SXFA 825,250 811,088 14,162
= 660,200
=S 49,515
s 115,535
201 et 3| 500 500 0
[ 400
S 30
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SA F2US
B Fo|E =NEX L A
Tl AIBIEX| QB HE 2o (Shol: % 2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 70
01 AtR2t2|HI 500 500 0
O KNG AMSIMHIAETIAE 2SI
500,000& 500
[ 400
&< 30
Ea 70
202 04| 1,000 1,000 0
[ 800
& 60
Ea 140
01 =LHOHI 1,000 1,000 0
O XA MHIAS XA S &=l 0]
1,000,000& 1 1,000
[ 800
S 60
[Ea 140
308 AtXIEHMSOIE 823,750 0 823,750
[ 659,000
= 49,425
o 115,325
18 SIS0t HAS A 823,750 0 823,750
O XIS A2 AHIAE XA
823,750,000 823,750
[ 659,000
= 49,425
= 115,325
HEDISAZXE M (Z2S) 2,250 9,713 NT,463
[ 1,800
= 135
= 315
308 AXIHSOIA 2,250 0 2,250
= 1,800
== 135
= 315
18 SO 2SS 4 AS A 2,250 0 2,250
O HENISAHALXAAIY MHIA MSHIE
oI 2,250,000& 2,250
= 1,800
& 135
Ea 315
JIAZIE S 2E20/AE (281) 120,000 113,750 6,250
= 96,000
[ 7,200
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SA F2US
33 FHHHs SASH L XE
Rl ARSI 2 dY 29 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 16,800
403 MR HMSAHE01H 120,000 0 120,000
[ 96,000
= 7,200
= 16,800
02 SIS0t =2 2 P E A I 120,000 0 120,000
O JIARIHE 2T A (HES)
120,000,000 120,000
[ 96,000
= 7,200
= 16,800
MBSRY A X (Z2/2SHE-2E) 167,483 167,483
301 EtE NS 167,483 167,483
10 M=SRREES 167,483 167,483
O MeE223 212 154,983,000 154,983
O uSHl & U=t 12,500,000& 12,500
ANSEQF 243 XY 31,680 31,680 0
301 EtEE S 31,680 31,680
10 AR=SR22as 31,680 31,680
O ABI=Red 22| XI=(AHl)
120,0003 x22H 123 31,680
HeA X+ AHEXIZ 1,000 1,000
301 EtE2 NS 1,000 1,000
03 A2 H A0S (XL THH) 1,000 1,000
O Al Aol Xs 1,000,000 1,000
NS S AN gAY 2SN (<HI) 39,449 39,449 0
[ 7,890
Ea 31,559
307 glztol & 39,449 39,449 0
= 7,890
= 31,559
11 AMEISXAEEE 39,449 39,449 0
O ZeZXIABIE2HEAM 2 (2]
% 24l) 39,449,000 39,449
= 7,890
o 31,559
KNS M 2EEAMS S A 47,400 57,400 10,000
201 2= 30,000 30,000 0
01 At22t2l] 30,000 30,000 0
O SY XNA2EE€AM 22X
20,000,000 20,000
O HE(AREAM)AH 3l
10,000,000 10,000
301 EetE2 N = 2,400 2,400 0
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SA F2US
B Fo|E =NEX L A
Rl AlRISA 2 dEE 29 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 168
=S 50
s 118
SEAtAIZEIAL A HBI(ZE) 104,184 101,628 2,5%
= 52,092
= 5,209
o 46,883
101 21AH| 104,184 101,628 2,5%
[ 52,092
= 5,209
Ea 46,883
03 SRA(RIH )22 E S 104,184 101,628 2,5%
O SEAtdIZ2IAL 12|
104, 184,000& 104,184
[ 52,002
= 5,209
[Ea 46,883
SEAtel 22l AL 21 24H] 26,280 27,000 AT20
101 212A4H| 19,800 19,800 0
03 SRA(RIH )22 UHE 4 19,800 19,800 0
O SEAdIZeIAL =& 19,800
- =H 252 S NS
3,300,000 2«32 19,800
202 04l 6.480 7,200 AT20
01 =LHA LI 6,480 7,200 AT20
O SEAIZIAL 08I 6,480,000& 6,480
SHE ¥EE SEMHIA XA(ZHI) 98,653 98,653 0
[ 69,057
= 2,960
o 26,636
201 er2 3| 40,000 58,653 18,653
= 28,000
< 1,200
s 10,800
01 At2tltl 40,000 58,653 18,653
O =S AEE SALIL 23|
40,000,000& 40,000
= 28,000
< 1,200
= 10,800
301 EtE N = 58,653 40,000 18,653
= 41,057
[ 1,760
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SA F2US
B Fo|E =NEX L A
Rl ARSI 2 dY 29 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 15,836
01 Al EE A S (2 RDEEMA) 58,653 0 58,653
O SH=s &S SEAtlA X2t
58,653,000 58,653
[ 41,057
= 1,760
Ea 15,836
elsul SX0IsH 2(<H]) 306,000 242,000 64,000
== 91,800
o 214,200
301 2= 306,000 242,000 64,000
< 91,800
= 214,200
02 MBI 2HHSFHS(HAANS, XLHE) 306,000 242,000 64,000
O Rcsdl |IDISH 2¢
306,000,000& 306,000
= 91,800
Ea 214,200
felsul SXISH SR ISAE 61,000 34,000 27,000
Il 61,000
301 LEtE NS 61,000 34,000 27,000
Jl 61,000
01 Al 2E A S(SRNEXMHE) 61,000 34,000 27,000
O Rcsdl SAIISH =2 ISAH
61,000,000 61,000
Il 61,000
SXAEIA A HEHPR FX 18,580 18,700 A120
201 =3 12,500 12,500 0
01 AtR2t2l] 12,500 12,500 0
O SgAteztel Felagal 2EH(11HA)
12,500,000 12,500
202 04l 1,080 1,200 A120
01 =LHAHI 1,080 1,200 A120
O Sghatdi2elol HE S S2AE
204 1,080,000& 1,080
401 Al HIZ R 0HbI 5,000 5,000
01 AlZ28| 5,000 5,000
O CPIR=8 24| 5,000,000& 5,000
X0Pl= SAAMEIA 8 &38| A 25,000 30,000 25,000
201 el 25,000 30,000 25,000
2 352484l 25,000 30,000 /5,000
O sY X=X AR 25,000
- &S Al 15,000,000& 15,000
- 282 & MMz 1,000,0002 10 10,000
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SA F2US
B Fo|E =NEX L A
Rl ARSI 2 dY 29 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
A=A HEO2 Ex1sH| X3 (%H) 6.720 8,960 A2,240
= 2,016
= 4,704
307 el2to| & 6.720 8,960 A2,240
= 2,016
[Ea 4,704
1 AMISXAIEEXS 6,720 8,960 A2,240
O MEEXIA BER E0SH KA
56,0003 120 6.720
== 2,016
[Ea 4,704
ANBISXIANE SAL adi28 s XS (<HI) 2,000 1,380 620
= 1,000
= 1,000
307 elztol & 2,000 0 2,000
= 1,000
Ea 1,000
06 28= 2,000 0 2,000
O AISXIAIE SAL doll28E
10,0002 200 2,000
== 1,000
o 1,000
ARl SXIAIE =XI2el 15,000 16,000 21,000
401 Al HIZL 201 15,000 16,000 21,000
01 Al&H| 15,000 16,000 21,000
O A2ISXAE X2
2,500,000 *6IH 2 15,000
A2 SKIAIZ =2 10,500 10,500
203 2=l 7,500 7,500
03 A=A PR FA| 7,500 7,500
O AP R =AH| 7,500,000& 7,500
301 22N 3,000 3,000
02 ANRI2HHSHS(HAAS, NLHE) 3,000 3,000
O 22N & HEXNE S 2d=
3,000,000& 3,000
USAE O & 2eIHA 25 15,000 0 15,000
= 7,500
< 4,500
T 3,000
301 LEIE NS 15,000 0 15,000
= 7,500
== 4,500
o 3,000
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